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Shandra has |6 stickers. She buys |4 more stickers while she is on
vacation. How many stickers does Shandra have now?

Shandra has stickers now.
40 + 30 =
I8 - 15 =

I15+3=

Draw the missing buttons in the box to complete the pattern.
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There are campers in the lake in all.
2. S+ =12
3. 88-77 =
7
4, +9=12
5. Write the missing letters to complete the pattern.
JI AI KI AI LI Al MI AI 7 AI
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There are 12 campers in the lake for an afternoon swim. If 6 more
campers join them, how many campers are in the lake in all?

A, P, A
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